0

L
&R
3

\/

k

| \—'
0

j
&

q
.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

NW210 F

NAME SIGNATURE DATE REVISION
DRAWN|  MRebase 08.07.2015 DESCRIPTION:
APPVD TRICIS
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4

75301 Harjumaa

WEIGHT: | SCALE: 1:30

SHEET 1 OF 9




safety area

1

6182

3
N N
N °_°
Nel
' \ \
Y
- 2245 o
DIMENSIONS ARE IN MILLIMETERS PART NUMBER / DG NO::
WEIGHT ARE IN KILOGRAMM NW2 ] O F
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 08.07.2015 DESCRIPTION:
PPVD TRICIS
Tiptiptap OU
f_',?& T' t' t ou Veetorni 9, MATERIAL: .
TA€>P Ip Ip ap Juri alevik, Rae vald, wood, metal, plastic A4
7530] HorJUmOO WEIGHT: | SCALE: 1:40 SHEET 2 OF ¢




foundation

1

6182

Y

[}

o AN
™ o0
N ~O
| |
Y D _ _ (] >
/D \C
Y
B 2130 o
WEIGHT ARE IN KILOGRAMM NW2 ] O F
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 08.07.2015 DESCRIPTION:
VD TRICIS
Tiptiptap OU
?‘.P‘ T- t- t oU Veetorni 9, MATERIAL: .
P IPUPTAP ™ Jui alevik, Rae vald, wood, metal, plastic A4
7530] HOrJUmOO WEIGHT: | SCALE: 1:45 SHEET 3 OF 9




2158

1558

\ .~ 17

g A
)
o
I ®
o
N
Ln
(o8
i 11 5
ground
C
WEIGHT ARE IN KLOGRAMM NW210 F
NAME SIGNATURE DATE REVISION
DRAWN|  MRebase 08.07.2015 DESCRIPTION:
APPVD TRICIS
‘5 Tiptiptap OU
T ' H ouU Veetorni 9, MATERIAL: :
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa pop—

WEIGHT:

| SCALE: 1:40




A
B
1
C
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.-
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KLOGRAMM NW210 F
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 08.07.2015 DESCRIPTION:
APPVD TRICIS
Tiptiptap OU
?‘-"-P' T- t- t oU Veetorni 9, MATERIAL: .
TA€>P Ip Ip ap JUri alevik, Rae vald, wood, metal, plasfic A4
75301 Harjumaa WEIGHT: | scae s SHEET 5 OF 9




ITEM

1 2

NO. PART NUMBER DESCRIPTION QTY.

1 post 98x98x2100 laminated wood 3
2 |post 98x98x1500 laminated wood 1
3 |INW210 pipe with radius D painted steel 1
4 INW210 pipe with radius A painted steel 1
S |INW210 pipe with radius B painted steel 1
6 [NW210 pipe A painted steel 1
7/ INW210 pipe with radius C painted steel 1
8 [INW210 pipe B painted steel 1
9 INW2140 P rope big @ 16 PPcovered steel wire 1
10 |[NW210P Rope with wheel ® 16 PPcovered steel wire 1
11T INW210P rope with compass @ 16 PPcovered steel wire 1
12 |climbing wall with climbing grips plywood, polyresin 1
13 [climbing wall with holes plywood 1

WEIGHT ARE N KILOGRAMM NW210 F

NAME SIGNATURE DATE REVISION

DRAWN| M Rebase 0807.2015 DESCRIPTION:

APPVD TRICIS
R\ Tidinbapnol Vel
TR%P Ti ptlptap Juri alevik, Rae vald, wood, metal, plastic A4

75301 Harjumaa

WEIGHT: | SCALE: 1:45

SHEET 6 OF 9




~
_/

50
Bl

200

700

\\

concrete

ITEM
NO. PART NUMBER

1 |ground fixture

bolt DIN603 M10x100

nut DIN985 M10

nut cover M10

nut cover cap M10

plastic cap 115x115

N[O~ WIDN

woodscrew 6 x 90

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

NW210 F

NAME

SIGNATURE

DATE

REVISION

DRAWN

M.Rebase

08.07.2015

APPV'D

DESCRIPTION:

TRICIS

A Tiptiptap™

Tiptiptap OU

Veetorni 9,

Juri alevik, Rae vald,
75301 Harjumaa

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:10

SHEET7 OF 9




2 Z/é
()
0)
0),
s 6
2
0)
- U post
climbing net
— °
ITEM
NO. PART NUMBER
1 [bolt DIN603 M10x100
2 |nut cover M10
3 |[nut cover for beam M10
4 |washer M10
5 |nut DIN985 M10
6 |nut covercap M10
WEIGHT ARE IN KILOGRAMM NWQ] O F
pev - TRICIS
\p Tiptiptap OU connecting beam and climbing net to post
", H H ouU Veetorni 9, MATERIAL: .
-Ig; Tiptiptap® ,u; dievic Rae vaa, wood, metal, plastic A4
7530] HorijOO WEIGHT: | SCALE: 1:8 SHEET 8 OF ¢




6
5
4
<2l
: [ p—°
1
: &) . | '3
\ o 5 B
\ : &
o )@/./D
1 5
4 N
5
6 4
5
6
ITEM NO. PART NUMBER
] corner 48x60
) bolt DIN603
M10x100
3 pbolt DIN603 M10x30
4 nut cover M10
5 nut DIN985 M10
6 nut cover cap M10
DIMENSIONS ARE BN MILLIVETERS PARTNUMBER / DWG NO:
WEIGHT ARE IN KILOGRAMM NW2] O F
ool - | TRICIS
Tiptiptap OU
Veetorni 9, MATERIAL:

A Tiptiptap™

Juri alevik, Rae vald,
75301 Harjumaa

wood, metal, plastic A4

| SCALE: 1:15 SHEET 9 OF 9

WEIGHT:




	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3

	Sheet3
	Drawing View4

	Sheet4
	Drawing View5
	Drawing View6
	Drawing View7

	Sheet5
	Drawing View8

	Sheet6
	Sheet7
	Drawing View13
	Drawing View14

	Sheet8
	Drawing View12

	Sheet9
	Drawing View11


